DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 3)
DIVISION

Name:

Time: Score:

o) —A47.185 + 5 =

212 —(.67544 + 0.08 =

213) —1.8318 - 0.6 =

214)  —=2247.6 =~ 0.4 =

215) —31.74 - 0.4 =

276)  —(.0116 = 0.01 =

211 0.03321 + 0.01 =

28) —0.18325 + 0.05 =

29 H711 +1 =

200 —25.74 +0.06 =

21 —219.6 + 0.0 =

) 9278 +1 =

283) —633.4 = 0.1 =

284)  —20bH =1 =

2850 5,617+ 0.1 =

Mathematics: Division - Level 6 - Horizontal - Set 3
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288)

289)

290)
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292)

293)

294)

295)

296)

297)

298)

299)

300)

667.31 + 0.7 =

—3.3752 +04 =

—396.3 + 0.6 =

—0.1808 + 0.002 =

76212 +9 =

7.29 +0.09 =

—0.20932 = 0.004 =

—(0.14811 =+ 0.003 =

—51.5 +0.01 =

37401 =7 =

—3550 + 0.4 =

4865.5 + 0.5 =

82.01 + 1=

—0.2843 = 0.005 =

0.0522 = 0.008 =
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